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ATATT TAELT:General Instructions:

The Question paper will be divided into A, B, C, D and E
(i) Part A will carry 13 objective type questions of 1 mark each. All questions are compulsory.
(ii) Part B will carry 4 short answer questions of 2 marks each. Answer should not exceed 100 words each. All
guestions are compulsory.
(iii) Part C will carry 2 long answer questions of 6 marks each. Answer should not exceed 350 words each. All
guestions are compulsory.
(v) Part D will carry 1 passage - based questions of 5 marks. Question is compulsory.
(vi) Part E will have 1 map question of 2 marks.
(vii) Carefully attach map with the answer script.

Part A

TeaT1. AQMACTfRAT & a7 fohet-foreT srem/ammematt & aRf=™a | 1
(31) 3TeFRIGT () AR (&) 37 Td g glair (&) ST | hlIg g

Mesopotamian people were familiar with which language/languages
(a) Akkadi (b) Sumerian (c) Both A& B (d) None of These

T2t 2. A ToIad & & it AATIICIAAT T SadT sTeT AT| 1
(30) AR (@) g (&) Sate @3

In the following which was not a God of Mesopotamia.
(a) Mari (b) Nabu (c) Daigan (d) Ur

25T 3. AGGICAAT H IRage T a8 FEA YA ....... § 1
(37) STeT IRagT («) Sreramgy
() AT T Heg I (&) 3R H A PIS ST

The cheapest mode of transportation in Mesopotamia is _.
(a) Water transport (b) Bullock carts
(c) With the help of people (d) None of the above

9esT4. UA A Fa Sfear forea i e 37T AT 1
(31) heg# CIEESIERERGIKIGER (@) FEfaar

The best kind of wine came to Rome from
(a) Fayum (b) Byzantium (c) Galilee (d) Campania

T 5. JHA THC T HodI HATA T HIACT ol JTeX Il o [T I 3Td J311 o 36T ol GHThd
o 2| 1
(37) 3feTEeT CIEIREGRGIBIGE G (@) feeRaw

The Roman emperor who consolidated the rise of provincial upper classes so as to exclude the senators
from military command was

(a) Augustus (b) Constantine (c) Gallienus (d) Tiberius

9 6. UHT ATHISY b TATHA H 3R 3frem ATST3TT ST TAN9T T SATAT 2T 1
(37) Teir (&) AT (@) oifeaT (€) Tt

and Greek languages were used in the administration of the Roman Empire.

(a) Chinese (b) Mayan‘ (c) Latin ) ' (d) Turkish )

TR 7. AT AT ST H, "FAFEell wATHD ARSI A T H e & A oot fereit o forw g3m v
I 1
(37) 150 &=t () 160 T (&) 167 f&eT (&) 176 &t

In the Roman urban life, the entertainment shows called “spectacula’ happened for at least
(a) 150 dgys (b) 160 days (c) 167 days (d) 176 days

;%;rsua9$a?rww3ﬂﬂﬁa%| ot £ U UG 3R A v 91w =M 3 31eTaR, T HET e & a2t
|

(37) HUF FET & Afhed FRUT AT S

() YA Tl ¢ ol fohel PRUT T &

(&) ST TEY & 3R FROT 31 RHUT T GEY AT FIAT |

() AT TET & Aot HRUT U T EY TISEHIOT AL B |



Carefully read the assertion reason based question no 8 & 9, and select a correct option
(a) Assertion is correct but reason is wrong
(b) Assertion is wrong but reason is correct
(c) Both are correct and reason is correct explanation of assertion.
(d) Both are correct but reason is not correct explanation of assertion.
UIRET 8. e d HHIT o1 Gt HIeTeX hl Jefall # 37Tk QAfehererrell 2T | 1
FRT: S ST T THLT AT 2T
Statement: The neo-elite/nobles were more powerful than the old senator.
Reason: New nobles did not have the support of the king.
TRaT 9. T U & STAGTHRRI o ITH HTcT AT FT fF20TeT $7sR | 1
HRT: Y FelicT 57 HEAT H ITed 6‘@% I
Statements The historians of the Rome have a vast stock of source material.
Reason: Annual records (Annals) have been received in large numbers.

9IR&T 10. AEIICTIAIT H FIERAT S glel T HTT HROT FT AT? 1
What was the main reason for the low literacy in Mesopotamia?

52T 11, S ¥ FeT R 1 g it 77 o 1
Why did Nabonidus appoint a female priest?

URe 12. TFHRT fohdl hgd 82 1
What is amphora?

Tt 13. ShiTCACISe o fohd QET chl TUTYAT T 2? 1

Which city was founded by Constantine?

Part B
G2sT 14. AT T &T 3T 2T IS 2
State two essential conditions of the city.
T2+ 15. FEIT 3 ST §ATT | 2
State the uses of seals.
T 16. HeT HelT T &f favare faf@w| 2
Write two characteristics of the Roman army.
9T 17. ST 1T o & 7T FUR fai@v| 2
Write two main reforms of Diocletian.
Part C
gt 18. AATIICIAIAT T &7 IR Ueh [Aeer faIf@w | 6
Write an essay on the legacy of Mesopotamia.
U5t 19. UH & UTRATR UG HTHTI[oTeh Sildel sl SITET HIfAT| 6
Explain the family and social life of Mesopotamia.
Part D
g2 20. arehr oy

3000 ST Y 3% IR & T 1 g FAh Ueh Ahe TITATAT bl TR HY SATT 1T AT| SHAT 37T 31K sitet &
SR TS SITSTaS; 2T Tthe, WYY 3R Y STHT AT ST2TS 1 1S 2l ﬁ%mwmmgm%a’r%m
IGAT YgeTel oh ToIU SATT I1AT AT | TG Hfclehell T Teh [aed-GTHCH FAHAT &, S8 A, a’rs?rﬁkmﬂ’r@rﬂaﬂm
gw%%&rsﬂ@rmmﬁm‘cﬁ%l T T O O Te2R & ARIRIT I1T & TSR TehT 3770eh gy & oirefT g

I
(1) arepr oY e 31K T ST ITAT AT? 1
(2) arert MY 3 TAHTOT 3 e FrAfIAT & g T8 T 2
(3) TCR ATeY & SV S8 Hict I AT 3 3 Tt QWA T AeTereT et ge SeTeh T SAs T 2

*The Warka head*

The woman's head was sculpted in white marble at Uruk before 3000 BCE. The eyes and eyebrows would probably
have taken lapis lazuli (blue) and shell (white) and bitumen (black) inlays, respectively. There is a groove along the
top of the head, perhaps for an ornament. This is a world-famous peace of sculptur, admired for the delicate
modelling of the women's mouth chin and cheeks. And it was modelled in a hard stone that would have been
imported from a distance.
(1) When and where was warka head constructed?




(2) List the materials used in the creation of warka head.
(3) Beginning with the procurement of stone, list all the specialists who would be involved in the production of such

a piece of sculpture.
Part E

T 21. e v faeg & AT WX FIer AR 3R ool AR Y &S| 1x2
Locate the red sea and black sea on the given out line map of the world



